& @ p—  S—)
@4 @@ ®‘,8{© 2 u ba phan sd, tht tir cac phép toan
Tén: Ngay thang: Diém:
1 3
—+55+1l= 54 +9=
2 4
1 3 3 1
- — +~6= X =+ ==
7 00 572 2
3 I 2 1
16+4—-= —X == ==
4 2 5 5
1 1 1 1+2><3—
6 2 4 4 3 2
1 1 2 1><3—1—
2 2 5 5 2 4

www.snowmath.com



https://www.snowmath.com

®
Y @
®

7N

ba phan sd, tht tir cac phép toan

Tén:

11

1
S +55+1l=—=5
2 2

1 ‘__9:_1
5=30+6=(3)=(43)

16+ 4—

N —
o =

N =
N =

AW

5=

(OS]

N e

R —

S

5=

o —

WD W
N W

o =
(IS

5=
(OSI 8]

| —
N W

Ngay thang:

3 ‘__21:_1
2 =54+9=(7)=(5)

1_7_.2
2 5 5
Lo

5
3_5_ 1
2 4 4
11

4 20

www.snowmath.com

Piém:



https://www.snowmath.com

